
 

  ecicrexE 1°n   )stniop4(  : )noitacifitsuj snas( etcaxe esnopér al risiohC  : 
1. ’l ed snoitulos ed elbmesne’L x2 noitauqé  – =3 1– tse x2  a : }1{)      )b  }0{    )c {– .}1  
2.  engis ed uaelbat eL ic - ertnoc  ed iulec tse    :  

a)  x2 –  3  
b)  3 – x2  
c)  2 – x3  

 
3. op xued tnos B te A tni  erèper nu’d einum D etiord enu’d s  O( neisétrac   ; IO����⃗  )

srolA .b te a sevitcepser sessicsba’d  BA  =  a )a : –      b    a|)b –  b )c      |b – .a  
4. B[ tnemges ud ueilim el I te G étivarg ed ertnec ed elgnairt nu tse CBA  .]C  

O a n  : )a A I�����⃗   3 =  GI�����⃗                      )b A G������⃗   2 =  GI�����⃗                   )c A G������⃗  2 =   IG�����⃗  
 

 °n ecicrexE 2 (6 )stniop  .]CB[ ed ueilim el H te CBA elgnairt nu tioS  
1. a-  euq let D tniop el eriurtsnoC CA�����⃗   = DB�����⃗  . .CDBA erètalirdauq ud erutan al tse selleuQ  

b-    nE euq eriudéd  DA�����⃗   2 = HA�����⃗ . 
2.  rap iniféd G tniop el tioS GA�����⃗   = BA�����⃗   + HA�����⃗  

a-  euq rertnoM GB�����⃗    = HA�����⃗  . .G tniop el srola eriurtsnoC  
b- euq rertnoM  DC�����⃗   + DG�����⃗   = HA�����⃗   
c-  euq let M tniop el renimretéD BA�����⃗   2  + MH������⃗   = 0�⃗ . 

3. .E ne tnepuoc es )GB( te )CA( setiord seL   euq rertnoM GE�����⃗   3   = DH������⃗ . 
 
 3°n ecicrexE (5 )stniop    : ∆ neisétrac erèper ud edia’l à eéudarg etiord enu tse  

                                        O(   ; IO����⃗  ) .1= IO euq let  
1. tioS   stniop sel B ,A  te  C ed  ∆  euq slet xA  =  ,3 BO�����⃗  =–2 IO����⃗  , CA�����⃗  = 2 IO����⃗ . 

a-  stniop sed sessicsba sel euq rertnoM B  C te  tnemevitcepser tnos – 2  te  5. 
b- B ,A stniop sel recalP  C te  rus  ∆. 
c- l reluclaC DB  te BA secnatsid se .  

2. .]BA[ tnemges ud ueilim K tniop ud essicsba’l renimretéD  
3.  ed tniop el M tioS ∆ .x essicsba’d   

a- .M revuorT .2 = MA euq ruop x renimretéD  
b-  MA euq ruop x renimretéD �  .M revuorT .2  

 
 °n ecicrexE 4  (  5 )stniop   setnavius snoisserpxe sel ennod nO :  

                x4 = )x( A 2  )3 + x( –  ²)1 + x2()3 + x( = )x( B te   )3 + x( – .)3 + x( 4  
1.  ²x4( )3 + x( = )x( A euq retnoM –  x2( )3 + x( = )x( B te )1 – )3+ x2()1  
2.  snad erduoséR � .0 = )x( B te 0 = )x( A snoitauqé sel  
3. a-  euq rertnoM   A (x)

B (x)
  =   2x� 3

2x� 1. 

          b-  snad erduoséR �  noitauqéni’l   A (x)
B (x)
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